
M6 x 1.0
Hex Nut

4302

M6
Flat Washer

80261

M6 x 12
Cap Screw

27329

M6 x 20
Cap Screw

27331

M8 x 1.25
Hex Nut

4304

M8
Flat Washer

80263

M8 x 20
Cap Screw

27342

M8 x 25
Cap Screw

27343

M10 x 1.5
Hex Nut

4305

M10
Flat Washer

80264

M10 x 25
Cap Screw

61269

M10 x 30
Cap Screw

61270

M12 x 1.75
Hex Nut
80250

M12
Flat Washer

80265

M12 x 30
Cap Screw

61283

M12 x 40
Cap Screw

61285


